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COMPUTER SCIENCE SSC-il
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) Which of the following is 16- bit code?

A BCD B. Unicode C. ASCII D. EBCDIC
(ii) According to Demorgan's law A+ B is equal to:
A A+B B. AB C. AB D. A+B

(iif) According to the absorption law, A. (A+B) is equat to:

A 1+B B. AB C. A D. A+1
(iv) Name the error which exists in the formula C=C* D/C

A Logical error  B. Syntax error  C. Execution error D. None of these
{v) In which of the following symbol of the statement “IS A > B" is placed?
A Connector B. Rectangular C. Paralielogram D. Diamand

(vi) The maximum characters that a string constant may contain are:
A 8 B. 32 C. 80 D. 255
(vii)  Which of the following is not logical operator?
A AND B. OR C. FIX D. NOT
(vii)  ON ERROR GOTO statement is used to detect:
A Logical error B. Syntax error C. Execution error D. BothAand B

(ix) Which of the following statements transfers control unconditionally?

A GOTO B. FOR...NEXT
C. IF THEN D. ON GOTO

{x) The number of elements assigned automatically to a two dimensional array in a BASIC are:
A 10 B. 100 C. 110 D. 121

{xi) The result of execution of Print ABS(-4.58) is:

A 4 B. -4 C. 5 D. 4.58
(i) The variable that enables to draw ellipse in CIRCLE statement is:

A Fourth B. Fifth C. Sixth D. Seventh
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COMPUTER SCIENCE SSC-lI

Time allowed: 2:40 Hours : Total Marks Sections B and C: 43

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C' on the separately
provided answer book. Use suppiementary answer sheet i.e. Sheet-B If required. Write your answers

neatly and legibly. ‘
SECTION — B (Marks 27)
Q.2 Answer any NINE parts. The answer to each part should not exceed 3 to 4 lines. (9x3=27)

M Subtract (1010), from (1101),.

(ii) What is truth table? Construct the truth table of AND, NOT, OR with the help of three variables.

(Hi) What is meant by computer program?

(iv) Draw the flow chart's symbols?

v) What will be the output? When you enter PRINT “37C="37 * 9/5+32

(vi) Pick out the numerical and string from the foIIowing'data items:
“Lahore” , 27 , “60W"

{vii) What is meant by nested loops?

(vii)  What is an array? Give an example.

{ix) What is the purpose of DIM statement?

{x) What is transfer of control? Give one example.

(xi) What are advantages of sub-program?

(xiiy  What is meant by pixel?

{xiii) What is file? How are files handled in computer?

SECTION — C (Marks 16
Note: Attempt any TWO questions. Alf questions carry equal marks. -

(2 x 8 =16)
Q3 a What is meant by coding in computer? Describe ASCl| code and EBCDIC codes (04)
b. Simplify the following function by using Kamaugh map ¢ (04)
F= ABC + ABC + ABC
Q.4 a What is debugging? Why is it necessary to test or debug a program? (04)
b. Write a program that produce five concentric circles of différent radii? (04)
Q.5 a What is the difference between simple and subscripted variables? Explain with examples. | (04)
b. Explain the following Library functions: (04)

CINT, RND, CHR $, INKEY $
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